IR R A& AT
AR ZER: wi. B B R T &

TR ) 735 P HGR R, B, WHAFS. R R R T

RGBT IS HTER : B TEEAE . P47 Ml 22 B B AROUL s il 22 7 F30

KR R i N BTG ZRE U, ST AN 55
T

BATHVEE . WBORE . ks i, JEE R AR Al T
TRELH) 732 PRI RYE . BT (AR LTS AT
AR S . AT A SR

LRI R, BEME. EEARKEAT

B

IE] 5 A [EbE g A N A v ]| K- N T Tl T i e A

BoR: B GRETERM —G51%, —NRE. F RS

A Ryt EA RO — 2 T 2 AT R B 4. BoREE 2R %%
A A }_ AR = [ R AR A AR Bl A S A = [ 5 A - B AR Bl A 55
1A
SR AR y=a+bx

PR RA: FE IR KT R SE

PR E A VRO BT R A LR

TSR A A HA T B A B 5 I BE T B4
QAL AR s 0 B PR L 3 2 PR A

A= CRAfy — BT AR A IRAS ) < B 65 - [ 3 Jl A
,—‘ AN
TUMRE 2 A= #9 BRSO — 2R Bl A S A= B DTR B 2 B B = B O < TTIR B %
T 5 e r{ﬁﬁ%ﬁ(w%ﬁﬁ) ]( AL TTHRE 2 = A — ARSI = B x DTk B i
L DR 1 = DR G 2/ B RO = AL TR B 2l / B = 1 — RS A R

N }El—‘— ‘31/\\ [@'ff& $‘ ,f#\\ /E_ ﬁiz'_(\ %1&6%52‘2&’&”%‘
;&{E{ 'ﬁltz'g)'ﬁm E‘jid%’/fj: ] I A 5} i

ZEbrE=AHERNBHEEE - RA G E

= ( A bRA = A A B A ek A B A — A T A
\—‘ LA bR L

RN =2l (B) /AHEE FD RB0HEERE (D =1—REG/FL%E

ERERE: AN, BRI, AR
r{%%ﬁmﬁﬁ&]—[ RN BB, R R B

FRBATUN: 3007 H AR = 072 B 5 4 — B 2= i E A
¥_{é§§ﬁmu]_r{ﬁﬁﬁmmﬁ& H o massmass

RRFI S HARRI =R Ry — MABaimA) — B ik
;[ﬂmﬁmmﬁﬁik{ HIKLEGI BT, RRRE =F B BN < 5 A

=TTt 8 e T 8 o PR < B A 0 = T2 B < P (B A

RGN, Gatt. et 251

WA TR WETE. A mE., ERTmE.
(] 2 FH U AN At 2278 T

f[::j ( BT [EE BV BRI Bt AR ST BB, IUH % 5 i 4%

e L WSS T AEBEE. e, WSRO
;_{ éﬂmﬁﬁ:]_ ETE: BT A HE A, oAb T A 2 1) LU 5 TAR N A
AP TR R = T B R R YR R A B R — B i A B
BB VI e RET+ BB — Bl

+ RGBS = RIS R
€ PG SRIETRE . REh P FEPE

Gl i

4




